! d !
C12 - 2.9 - Ln Derivatives Notes y ==l

y = Inx y =logs x anx y = logs 2x 10g7 x? y log; x*  y =logs+x
1 = Zlog7 x 1
N X =1 2
y lne ‘ 2x In5 ( ) y Y 10g5 X
11

[uy

Y =2 5ms)
7T lélh(é?r(zl 21at y= ln(lnx) y = In(x?) y =In(x?*) y= ln(l + x?)
y' = , , 1 = 2lnx
that y—l—X— y=—><2x 5 X 2x
nx X y — 2 X
y = logy (that)
__ chain that .
" that(Inb)
x+1
= log2(3x +1) y = (Inx)? . y =In(xvx - 1) y=InC—)
% @) ¥ =2ntx- YTVl y=In(x+1) - In(x-1)

y

y = xlnx = Inx* y = lnxlnx
= xlnx _

1
y —1(lnx)+ Xx- ——lnx+x><lnx

= x 1 1 1
(3x+1)ln2 y=ty < ) yo b 1
X Ax—1\2Vx-—-1 x+1 x-1
1, 1
X 2x—2

y = x* y = xlnx _Q@x+1?  [Adifficult
Iny = Inx* Ln'Both Iny = Inx'™* y (x +2)3 quotient
Iny = xInx LSides Iny = Inxlnx (2x + 1)?
Lxy = 1m0+ oxx Y oLy ] ey
—xy' =1(lnx) +— X x = Z
y y’ X y x nx + % nx Iny =In(2x + 1)? —In(x + 2)3
}’; Inx + 1 y ln_x ln_x lT}l])’/ = 21n(2x1+ 1) — 3In(x + 2)
) yo X X —=2x X2—3X
y'=y(nx +1) y'  2Inx y 2x+1 X+ 2
SUCESCETEY> i SO S VPRI
, _(2lnx y=y 2x +1 x+2
Y =Y\ , (x+D?( 4 3
' y_(x+2)3 2x+1 x+2
%’ , @2x+1)? 5—2x
Y= a2 @+ Dx + 2)
= In(sinx) = In(xsinx)

y' = L (cosx) y' (1(smx) + (—cosx)(x))

XSl

y' Page 1



